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NEW QUESTION 1

Given the code fragment:
// Login time:2015-01 13T21:58:1
Justant loginTime = Instant.now
Thread.alasen(LO040) ;

8.3.72
L]
L

w
L

/S 1logous HinsiZ0.5 01-12TZ21:58:19.88303
Tnetant. logoutTima = Instant.now():

L

1o03inTilme = loginTiss.truncatsdPeiChroneUnit .MINUTES

logqoutTima = logoutTivs.nruicatadTo iChroneM it . MINUTES) ¢

1f (logoutTid&é.lsAlzar{loginlTixs})
Syetem.out.prinzln{“Logged cut at: * 1| logoutTima);

¥

Pl
‘"
|‘l

Bystenm.out.priatlni{™Can's. logous"i;

What is the result?

A. A compilation error occurs at Line nl.
B. Logged out at: 2015-01-12T21: 58:002
C. can’t Logout.

D. Logged cut at: 2015-01-12T21:50:19.000z

Answer: B

NEW QUESTION 2
Given:

clagse Parsaq |
private Strlng rfirstVama:
private Iint azlary:
public Person!sizring N, int sal) {
sale.firatName = 7N;
DAila.salary = sal;

}
public int ge=Falary{} | rztura salary; |
public String gstFirstNazme() ( rezurn firstNamcj; |

)
and the cede fragment:

Lizz<l'erson> prog = Arrays.aslist|
new Fersen(*sxith", 1500},
new Torsen(®Jshn", 2024),
new Tarson(®sz=e", L003));
duilble dVal — progiglisami)
fomdllmz il > w,yelIFissNames () slasLaWl B("J"))
ymaoliolnl {Peeson: :ge.Salazv)
sdvesrdge il
elisDoulled) :
Sysiem,cul.oeinl(dVal)

What is the result?

A. 2000.0

B. A compilation error occur
C. 1500.0

D.0O

Answer: C

NEW QUESTION 3
Which code fragment, when inserted at line n1, produces the result fy20°4.txt?
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o TC.F-'_!'I:"I'. I'.
s Ev2014.xL

Given the cude Iragment:

T .
fAline =l

files.fozrEach(Z -> Eystex.cut.pzint (f.gezFileMame |

) catch [TORxcaption &)
Systam.MIn.privatinial

A. stream<path> files =Files.find(path

B. get(“"D\\ report™) , (p, a) -> a isRagular File ());
C. stream<path> files = File

D. Wal

E. get(“"D\\ report™);

F. stream<path> files = File

G. Wal

H. get(“D\ report”), 3, (p, a) -> p.isregularFile()) ;
I. stream<path> files = Files.find(path

J. get(“D\\ report™\ry2014.txt")) *

Answer: B

NEW QUESTION 4

Which is true regarding the jaa.nio.file.Path interface?

A. Implementation of this Interface are nor safe for use by multiple concurrent threads.

B. implementations of this interface arc immutable.
C. The interface extends the watchservice Interface.

D. Paths associated with the default provider are not interoperable with the java.io.File clas

Answer: B

NEW QUESTION 5
Given the code fragments:

pudlic Isatic Optional<Esring’» getCountry(Straing l:o<)
Optional<8tring> coullamc — Optional.oxpty(l;
if ("Parig".cgaalsilocl)
couName — Optionzl.cf("France®™);
elee If [("Munba.".egudals[loec))
couName = Opllional . of{"londia™)
Izt CUudanm:

and

OpLioftaldSorinigs Cloyl = guwllounlziv i Facis™)r
ORPLAGalCSLoing? vioyd — YebiouLlsy{"Zad Veyas™):
Syslem.oub.printlo{cityl.crZise{"Ho, Found™) )

i (Cilve.ogrrewenl ()]

wmEapl{x > Sys.es,vul.Dzinllinix));

Syvelom.ouL..peiatlofeityd s oeEles ("NoL Fowpd™)):

A. Optional (France) Not Found

B. FranceOptional [Not Found]

C. optional [France] Optional [Not Found]
D. France Not Found

Answer: D

NEW QUESTION 6
Given the code fragments:
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Siaase Dook 4
String DHnans;

deuble price;

publlic IgokiSsring knama, double price) |
Ala. DRame = bname;

sala.pricea = price:
b
// setiar and geLter methode g here
1

and

10, Liel<3uoi> Douks = new Arxzaylis.<Dovk>{):

1. seaks.add (naw Bzak{"Java 3", 200)1);

12. books.adiinew Svok{™wava ME", 122));

13. neoks.atraam() .filtari(h -> h.ga=Rnavai)

14. eguals ("Jave ¥Z7))

[ forfashib => h.satPrica(200h) )y

16. books.forkachilh => g€ystexm.zut.printlinib.baams + ":" + b.pricz)l;

What is the result?

A. Java SE: 2000.0 Java XE: 120.0B .java SE: 300.0 Java XE : 120.0
B. Compilation fails due to at line 15.

C. Compilation falls due to an error at line 16.

Answer: A

NEW QUESTION 7
Given the code fragment:

List<Integesr> codes = Jrrava. aelast (10, 20)y
vnaryOparator<iouble> ye = a > ¢ AR 7

sodes  replagedll (ue) ¢

sodes . forZachic > Cystew.,ous.prantlaich)

What is the result?

A. A compilation error occurs.

B. 1020

C. 20.030.0

D. A NumberformatExecption is thrown at run tim

Answer: C

NEW QUESTION 8
Given the code fragment:

Map<SLring, Integer> Tap = new HashiMap<> i)
map.computel{™l™, [k, v) 2 (v = null) 2 k * kK ¢ D}):
map.computel{™i®, K, v) > (v = null) 22 * 3 1 0}:
Syatex.cut.printlin(sag.get i i) + " " | map.gan(=2™) i

What is the result?

A.00
B.14
C. A compilation error occurs.
D.12

Answer: C

NEW QUESTION 9
Given the code fragment?

S, List<Inleger> sums — Rirays.asLlsL¢10, 20, 10, 20, £3):
6. /* insar:s cada fracwan= hera ~/
7. Bystem.oub.princlulk);

Which two fragments, when inserted independently at line6, enable the code to print true?
A. Boolean b = num

B. stream ().Nonematch( n -> n == 20) ;
C. Boolean b = num
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D. stream ().filter(n-> n —20).allMatch -> u — 20);
E. Boolean b = num

F. stream ().map(n-> n20).Nonematch( n -> n == 20) ;

G. Boolean b = num
H. stream ().allMatch -> u — 20);

Answer: BC

NEW QUESTION 10
Given the code fragment:

il ' flARs M T !
Fulin ] - .4,‘.'." Ol 31N ISLY
':."_-“.. ij = I:-It i '
e ¥
- | | - o -
-
Sysbam.ous.| Liniqg

Which is the valid definition for the crecter interface to enable the code fragment to print ksthy welcome!?

A. public interface greater { Private string greet {string name},)

B. public interface greater <T> { Public static String greep (T , name) ;)

C. public interface greater {Public default String greet{ String name} { Return name;}Public String greet (String name, String salute);)
D. public interface greater { Public String greet(String name) ;)

Answer: D

NEW QUESTION 10

Which statement Is true about the single abstract method of the java.util.function.Function Interface?

A. It accepts an argument and produces a result of any data type.

B. It accepts one argument and returns void.

C. It accepts one argument and always produces a result of the same type as the argument.

D. It accepts one argument and returns boolea

Answer: A

NEW QUESTION 15

aube il iDaCa)
Fibata.alze < SMELT EXOISNH)
Natal)
;n.
o -+ 8 LR |
sL<Data)» -
[oriDacta 4 oo

And given the missing methods:

process, sukmiz, ond cplitInHalf

A. Inserted submit at line X.

B. Inserted process at line X.
C. Inserted submit at line z.

D. Inserted process at line Y.
E. Inserted process at line Z.
F. Inserted splitTnhalf at line Y.
G. Inserted splitinhalf at line

Answer: BCF

NEW QUESTION 18
Given the code fragments:
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4, veid doSLull() Lhzows Azlllunel
iy i (Math.randami() > =11 throw
6. }

and

," L .,..r..:.

23, dostufs(};

20, ) as=h (A Lhmest. -

2/, gystem.oust.prirtlae.gaties
28, saiel Tavepllon )

£S. Systam.ou=.printin{s.gatMas
30.

b LD Ly

Supibrer FormalEXCep . LUl

e e T P e

naw Excaption{"Try ;g:in':;

sajJel) 7

sagel)};

Which modification enables the code to printTry again?

A. Replication line 27 with: Throw e;

B. Replication line 26 with:) catch (Exception | ArithmetiExeception | numberFormate Exception e) {
C. Replace line 26 with:) catch (ArituretcExeption | NumberFormException e) {

D. Comment the lines 28, 29, and 30.

Answer: D

NEW QUESTION 19
Given the code fragment:
- 1‘ ‘l'.ﬂ

ng., = Rrrays.asl
UL.printlini

e il

. R | -

Which code fragment, when inserted at line n1, enables the code to print the could of string elements whose length is greater than three?

A. listVa

B. Stream(). Filter(x, length {) > 3}. count ()
C. listva

D. Stream().filter(x->

E. length{) > 3.} .mapToint{x -> x). count ()
F. listva

G. Stream().map {x ->

H. length {) >3}. count ()

. listVa

J. Stream().peek [x ->

K. length{} > 3} count (). Get ()

Answer: A

NEW QUESTION 22

Which two statements are true about the walKfileTrac method of the files class?

A. If the file is a directory, and If that directory could not be opened, the poatVisitDirectory method is Invoked with the 1/0 exception.

B. The file tree traversal Is breadth first with the given filevisitor Invoked for each file encountered.

C. The maxDepth parameter's value is the maximum number of directories to visit.

D. By default, symbolic links are not automatically followed by this method.

E. If the file attributes cannot be lead due to on I/O exception, the visitFileFailed method is invoked With the 1/O exception.

Answer: AE

NEW QUESTION 27

Given:
PuSLlc ClLasz Mypp
sublic stotic vaid msin(string|
Etring Yar = args.longtl
Exitel {war.zaplaca('"v"; "w'
casze “kava”

.printlri

cazse "kawa™:
gysze=.cut.printlni

czas "Xawa"™:
Bystex.cut.println|

¥
&

o W
Xava ]

"kawa

LT

oroeak:

broak;:

What is the result when you compile the code and execute the command: Java MyAPP Kava

A. Kava
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B. Kawa
C. An Exception is thrown at runtime.
D. Kava
E. Kawa

Answer: E

NEW QUESTION 32
Given the code fragment:

. FLF iy §
s g by v g 8

I L o K

VR hreaqad =) .
What is the result?

A. [X, X][ X, X, X, X]

B. [X][

C. XJ[X, X, X]

D. [X](X, X][x, X, X][ X,
E. x, X]

F. [x, X]

Answer: A

NEW QUESTION 33
Which two states are valid for a watch key?

A. Ready

B. Not Runnable
C. Runnable

D. Does not Exist
E. Signalled

Answer: AE

NEW QUESTION 35

Which two codes correctly represent a standard language local code?

A. UB
B. uB
C.FR
D. EE
E. ff

F.eB

Answer: CD

NEW QUESTION 37

Which statement Is true about java.util.stream.stream?
A. Streams support aggregate operations.

B. All stream operations are lazy.

C. Objects in streams are intended to be mutable.

D. Streams can be reuse

Answer: A

NEW QUESTION 42
Given the code fragment:
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-

L L S4SATLICE VO1Id maniISLY |r-..='_: araal !
LI1&t<Svraing>» eList = Arrays,.asLias(™a", "a*. "C", "D"):
M ina
Rystam. QL. pr ln{atr};

Which code fragment, when inserted at line n1, enables the code to print ABCD?
A. string str = sList.stream reduce () .reduce (“A”, (s1, s2) -> sl.concat (s2)) ;

B. string str = sList.stream reduce () .reduce (* “, (s1, s2) -> sl.concat (s2));

C. string str = sList.stream reduce () .reduce (“A”, string: : concat) ;

D. string str = sList.stream reduce (). Reduce (s1, s2) ->s1, concat (82) ;

Answer: B

NEW QUESTION 45

In 2015, daylight saving time in the New Yourk, beings on March 8th at 2:00 AM. As a result, AM becomes 3:00 AM.

Given the code fragment:

1'_:‘|l-l 3 AE - ronmi.r 0 R P ¥ A Haw -l ¥
ZancdDataTims d= — ZoncdbatceTizmc.of (LecalbDoto.of(201%, 3, L), ZccalTimec
concadbataTim= dt2 = & .plusHears (2 s
Systex.out.print(Datelimalorzatter.oslattern{H:sm - * foeryatid=2)
Eystox.cut.println(differonce: " + ChrencUnlit.HOURS.betwaon{dz, dt
Which is the result?
A. 3:00 — difference: 2
B. 4:00 — difference: 2
C. 4:00 — difference: 2
D. 2:00 — difference: 1
Answer: A
NEW QUESTION 46
Given:
Lame Worker sppapnds Throsad £
Gualichareier obs
K lig ® - ¥ T s - T (] ] L} - i i
public vaid maal)
=EY
W L )
Ej‘::'_:l.:_".:.l::zn':'_.—.l"i“.'-::.-:-'_::,_."|.
eateh 'E?::-:F‘:-i-:-:'. = 4
fadne Tl

You have been asked to ensure that the run methods of both the worker and Master classes are executed.
Which modification meets the requirement?

A. At line n2, insert cyclicBarrier cb = new cyclicBarrier {2, master} ;
B. At line n2, insert cyclicBarrier cb = new cyclicBarrier {1, master} ;
C. At line n2, insert cyclicBarrier cb = new cyclicBarrier {1) ;

D. At line n2, insert cyclicBarrier cb = new cyclicBarrier{master) ;

Answer: B

NEW QUESTION 49
Which two statements are true about localizing an application?

A. Support for new regional language does not require recompilation of the code.
B. Language codes use lowercase letters and region cedes use uppercase letters,
C. Textual elements (messages and GUI labels) are hard coded in the code.

D. Language and region-specific programs are created using localized data.

E. Resource bundle files Include date and currency information.

Answer: DE

NEW QUESTION 51
Given the code fragment:
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FimplelataFormat gdls
34f = pew Sisplalstalformat |YEzse™, Tocals.l8)
Syatam. sul o mr inclnt=fhesuit: = 1 &8d". "cryat vEoday)

What type of result is printed?

A. Era

B. Time of the Epoch (in milliseconds)

C. Full text time zone name
D. Time zone abbreviation
E. Julian date

Answer: B

NEW QUESTION 56
Given the code fragments:

“lLasa=s R
= & [ .
ol wodld rws )
;
|
classe & Jmplements So

o 171

5|I,J||| 5 ShFAng S5l

and
N = TR il
e e e [ TR
FuburesSorings 1
FUSTEN, UL OY __: nElnlEl

e, BERLTCEEn )

What is the result?

S As = DHeSlNars.ay

= I'||||_'!|':'||||-_":_I.a-_= Menranla £

- - -
ISR e~ T

printioe™Num. "

lablacity Lnsn

i BhRESWs FRESSELIGE

e igleThyesdlEeSuiasr il
AF 1ine nl
= ag,aulkmininsy Sy LY 1ima n?

SR -

A. The program prints Run... and throws an exception.

B. Run... Call...

C. A compilation error occurs at line n2.
D. A compilation error occurs at line n1.

Answer: B

NEW QUESTION 59
Given the code fragement:

Bl L ald procagasilal) AaraweE TOEXCapLion, SlasaNotFERoundExce:
cey IF bhoadar = fnaw Filafaader i"laqlilasre., LEL™
Fllapricar [w = Neaw FllaWritar(™logilledasl . LEE™)
clasa ¢ = Claag.forRame{"java. lang.JJoLelng™) &

If exceptions occur when closing the Filewriter object and when retrieving the JString class object, which exception object is propagated up to the caller of the

processFile method?

A. Java.lan

B. Exception

C. Java.lan

D. NOSuchClassException
E. Java .j

F. ToException

G. Java.lan

H. classNotFoundException

Answer: D

NEW QUESTION 60

Given the definitions of Readable and writable interfaces:
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intzrfzca Roadabls
public wcid readl);
public static vaid clesel) System.out.prinzt (™ Close ")+ |
)
intsrfzca Writabls =xtonds Reozdskic |
public dafaul: woid writz() |
read() ff line ml

Lprinti{"Nelccoe";;

Given
cizzs Canvas implemants Writable L
public wzid read(] | Sys=
public ctatic void mzin(stringf] args)
Writable canvacsl = asw Camvaszl):
canvacl.xr
la.€

Writable. ¥

What is the result?

A. Hello welcome close

B. Compilation fails due to an error at Line n2.
C. Compilation foils due to on error at Line n3.
D. Compilation fails due to an error at Line nl..

Answer: A

NEW QUESTION 62
Given the code fragment:

integar> al =

String» G2

FroductCodecNurbar,
ProduernCodadNunbsy |

_..‘.'.'Al

= [ &

line

[

line

ProducTCode<Humbar .,

Froductdasdacumbear,

n2

x.cut.print ("Hello "}; )

)

'."”r_‘_..-}_';.|:-,l-|; I1"-I-

Strihg>(): f*

cl

Ingtantiation

LNneELsm

=lation

-‘f

a i

You have been asked to define the productcode class. The definition of the productcode class must allow ¢ 1 instantiation co succeed and cause a compilation

error on 02 instantiation.
Which definition of productcode meets the requirement?

A. class productCode<T, S extends T> { T c1;S c2;)
B. class productCode<T, S<{T cl1;S c2;)

C. class productCode<T, S<IntegAr>> { T c1;S ¢2;)
D. Class productCode<T, S super T>{ T c1;S c2;)

Answer: A

NEW QUESTION 64
Given the code fragment:

public sTatic void main(String|[] =r3s
Etrcam.of({"ava™, "Cnax", "“Linux"
fil=er{s => =.containg("n"))
.peck(s -> Bystam.out.println{"ox
fd lime nl
I
A. .allMatch () ;

B. .FindFirst () ;
C. .nonexatch () ;
D. findAny () ;

E. .anyMatch () ;

Answer: BE

NEW QUESTION 67
Given:
clase Washer |
public atatle void main(String[] args}
Runnable r = () = {
gystem.out.print ("L1 *}:
j'-"
naw Thresd(r).start().
naw Thread(() » {
Syatem.out.print |"TL2 ")
b)eBLAES() 2
ASyebam.ous.print{"wW3 ")

The Leader of IT Certification
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Which result possible?

A.L1w3
B.L2w3
C.L1L2w3

D. w3

E. Compilation falil

Answer: E

NEW QUESTION 70
Given the following incorrect program:

siage MyTask satends DecurslvalaskdInzagsr> |
firal int low: Cinal int high:
gtatlo Lixal Lar TEDDENOID = [+, . .%/;
ivTaskiint low, int higal 4 thie.low = lowr thiehigh = highr )
Integer coanpurablirsctlvi)l {4 J*.,,.*/ }
protesiad voird o pyutel |
{higl ow <= TIRESHOLD
rsturn computabizactlvi;
v ndd = (low | highy / 2+
cnwokesll]l (new MyTask(low, med), new Mylask(mid, hagh)i:

Which two changes the program work correctly?

A. The compute () method must be changed to return an integer result.

B. The TIDESHOLD value be increase so that the overhead of task creation does not dominate the cost of computation.
C. The MyTask class must be modified to extend RecuraivaAction Instaed of RecuresivATAsk.

D. Result must be retrieved from the newly created MyFask instances and combined.

E. The computeDirectly {} method must be enhanced to fork () new created tasks.

F. The midpoint computation must be altered so that it splits the workload in an optimal manne

Answer: CE

NEW QUESTION 72
Given:
class ChacxClaaa |
public static int checiValuseiftring g1, String e2){
ratarn =1.langth!} a2, lengthi):
}
}

and the cede frogment:

Jrring() sTrArray = naw stringi] { ™Tiger™, "Rat", "Cat™, "Lion" }:
Silipe ni
*ar (Onriag & 31 atnrarray) i
Svetem.out.pxiazfe + " ");
}

Which code fragment should be inserted at line nl to enable the code to print 2ot cot Lion Tiger?

A. Array

B. Sort (strArray, (CheckClass:: Checkvalue) ;

C. Array

D. Sort (strArray, CheckClass:: checkvalue) ;

E. Array

F. Sort (strArray CheckClass :: new:: checkvalue) ;
G. Array

H. Sort (strArray, (Checkless:: new, checkValue) ;

Answer: B

NEW QUESTION 76
Give the code fragment:
Ligt<string> gwords = Arrave.asListi"why *, "#hat ", “when ™):
Sinaryiparator<firing> cperator = (gl, 87} -» sl.ccncat [(82);
tring sen = gwords.strean!)
JEeduce (™Word: ", operatorls
Syetew,.ocut.printlin(ean) 2
What is the result?

A. word: why what when

B. word: why word: why what word: why what when
C. Compilation fails.

D. word: why word: what word: when
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Answer: A

NEW QUESTION 80

Given:
Fabh i . = =abtvm.gati{™/P !:'H','-'.'-";. Fid. i H'j-'{
Syataw . out.printlinipl.getdaneCount ()

| po.gatMamail)
2™ b pl.getPrlaelNawa ()}

NAssume that the 0ics directory does NOT exiskt.

A. 2:MyPir..jpAg:MyPi

B. jpag

C. 2: pics:Mypic.jpcg

D. 1:Pics:/Pics/MyPic.jpeg

E. An exception is thrown at run tim

Answer: A

NEW QUESTION 83
Given the code fragment:

%
o

=2 =4 B %

By b = et R R R

iCy il

=il r SEnECaATaLOT) ;
- J F i e e 1 - - - ; "

Which two code fragments, when Inserted Independently at line 14, enable the code to compile?

A. Map<String, List<String>> category = new HashMap<>> () ;
B. Mae<sString, List<String>> category = new HashMap<String, List<String>> () ;

C. Map<String, List<String>> category = new HashMap<String, ArrayList<String>> () ;

D. Map<String, List<String>> category = new HashMap<List> () ;
E. Map<String, List<String>> category = new HashMap<String, List<>> () ;
F. Map<String, List<String>> category = new HashMap<> () ;

Answer: BF

NEW QUESTION 85
Give the code fragment:

SAas TaasT
public statlic ] painiStringl AL JE
at.<Tntegar> rums = Brrays.aalle
Svatam, o i ATL A4y 1 B
Gl BTAaT Y 1t SoSumd s T ot =) o
'1ine nl

Which code fragment, when inserted at line n1, enables the code to print the sum of all the elements in the runs list?

A. return list, Stream () .map (I -> i) sum () ;

B. return list, Stream ().mapToint (I -> i). sum () ;
C. return list, Stream () .mapToint(i -> i+ i) . sum();
D. return list, Stream () .map(1-> 1 +1) .sum{) ;

Answer: B

NEW QUESTION 88
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